=%

R 2 IR ERER 772X
—RRB(TERE) 53.4 12.12
—ERB(FRE) 55.67 15
— i RB(E ™) 56.13 417
—RERERE) 59.9 6.67
—RERERRE) 58.63 6.9
— R B (Frdkm™) 55.6 9.3
— R RB(ZEHT™H) 55.97 5.71
— i EB(ZIt™™h) 58.13 8
—RREB(Z/™) 57.63 5.56
—BITHR(MTERE) 61.83 4,62
— AT IER) 56.6 11.76
— AT (BKEE ) 59.63 2.67
—RRATE(E ) 55.87 0.96
—HRATIE (T RR) 50 0
—RITRERE) 56.9 3.64
—RRATER(FrdL ™) 57.83 7.69
—RITR(FRE) 64.73 3.03
—ATER(ZEH ™) 58.2 3.65
—RRATE(ZILT) 60.43 3.8
—RRITE(ZmM™) 60.57 1.37
ABTHR(TERE) 55.8 7.41
ASBITE(HET) 58.37 3
ASBITR(E ™) 57.6 2.8
AFTHRERE) 54.53 4.49
AFETHR(FAE™) 56.57 8.51




AFTB(ZEH™) 59.43 2.19
AFTHR(ZEIL™) 59.2 3.78
IARIEMEE) 50 23.53
IARIEIERE) 50 24.14
I ARIE(EFMER) 54.07 50
TRIRFREK 50 8.33
T ARIFE(HEE™) 50 21.74
T ARIE(EHT) 53.27 20.83
IARIBEERE) 50 19.05
IRIRERRE) 50 13.64
T ARIFEFHI™) 50 23.64
IARIEFRE) 50 20
T ARIE(ZFH) 53.8 21.37
TARIFE(ZIL™) 51.33 24.21
TARIFE(ZrmH) 53.3 20
T ARIFE(EHER) 50 10
THIR(EIH) 64.43 6.25
ABAHE (MR RE) 50 0
ABE TEER(TERE) 50 5
A S T EEm(BKE ) 50 1.85
AEE TN (S i) 50 3.85
ABHETEMERR) 50 3.45
NS T EEM(ETER) 50 0
ABHETHEMERRE) 50 5.56
AT E T EEm(FTIL ) 50 3.85
ARt E T /EER(Z ) 50.43 10.14
B E T /EER(Z=AL ) 50 455
NS T EEM (2 A5R) 50 0




AR E(TERE) 50 0
AHEEM(ERRE) 50 0
AR RN (B IR ([E) 50 100
B R EERR (=L ) 50 0
ANHENERN(TERE) 69.43 50
B ERER B (& P ER) 62.67 25
N EREREE R (B EI ) 54.2 33.33
N ER BB ((E T ER) 50 0
AHE RN ERRE) 60.07 27.27
A BEREEAR (=) 57.27 35
L2 TR (=) 52.93 16.67
LB TR (ZEHH) 62.73 4
FH(Si#H) 58.13 2.63
P EB(FALH) 51.83 18.39
FE&(E ) 59.7 3.57
)EE&( ) 60.67 6.77

EATE(FRRER) 71.97 1.04
Iﬂ:rﬂz(g =) 68.1 4,65
XALITE(ETIER) 66.53 5.17
XA TR (L) 73.83 0.76
XALITE(ZAHT™) 74.1 1.32
KERFIRE(FrL ) 51.43 20
KERFIFE(EST) 50.2 13.89
KERBFIIE(Z=rRH) 60.17 8.33
JKFI TFE(FrALTh) 59.6 25
KF TR (FRE) 50 0
KFITIE(ZHT) 58.77 11.54
KFITFE(ZALT) 65.4 10




||| MIOD]J]O]O|IOIOCOC|JlO]|O | MO O|A]O || AN~ |0 || A
N 2|2 D | o3 @ N IR M N B R R s
< | -~ O 0 ™ — | N | O |0 || M~ O | AT | T |O WO | ||
— | — — — — — — —
NI~ |l NN |O]lOO|]OoO|loo|lo|lOo ||l HA <SSOl ]IS0 ]M N
S I PN DA i i i I Bl = S B e B B B RN N B R s B IV B R A S
<< | = | m n | 0 | <t nmnIwunmIn | It~ | 4|l OlO|IWn ||l |[S | ©
n | wmn|wm n | wmn O | " |w;n|Lwn n | wn (o)

{E | |8k £ | e ({E £ |8k £ (£ [ |E

K K|S < s|EL B SES S slalaalalaslalalalalalalsla
i (4 |05 | E |4 | = (AW |8 | < |VE [$R (0 | | bel k2 (BE (4E |E | e (8 (£ | kE | {E | £ |E | BE | ke (B
Wy B E B & |&|E|E|E|e|E 18| KK B & ™k K& = & F|KH
H[E (& [E | | & [ 888 | ® || W Z B 5| RS
e |VE | e RN R R E R E(E
R X [ [ I [ (X (X[ X R R(FIRIFIFF(RIFIFFIF|R[HIH




il (Fr AL Th) 67.27 1.93
El(Zm™) 66.03 1.45
FEERB(TERE) 61.43 4
EEREB(FRER) 60.2 3.45
RERB(E ) 64.53 2.48
RERB(GETR 60.1 20
EFERRERRE) 61.03 3.64
EERB(FAL™) 60.73 3.85
EERB(ZHT) 65.7 2.03
RERB(ZALT) 60.07 3.6
RRRIER(E AR 57 5.56
HEITRITERE) 57 5
HETHR(IERE) 50 0
HETE(EMER) 57.43 7.14
HETHR(E ) 54,1 3.33
HETRERRE) 56.4 8
#EITHRETIL) 56.57 10.26
#HETB(ZEH ) 58.57 3.45
HETER(EAL) 58.6 5.62
BETRE(EHR 50 0
BETRTERRE) 60.57 16.67
BETRBE) 50 44.44
BEITREERR) 51.93 37.5
BETITRERRER) 59.07 25
BETEFTLT) 50 43.59
BEIRERRE) 54,7 33.33
BEIEES™) 50.07 45.45
BETREIH) 58.33 13.64




BITBR(TEE) 63.4 3.7
HITHR(TERIR) 64 7.14
BT E (B R ) 64.67 2.91
B ITE(S ™) 68.37 1.05
BRITB(EERRE) 60.67 7.41
B ITE (=T 5%) 60.8 14.29
AR 1T (B ) 65.2 2.78
BMRITH(ZA™) 64.77 1.94
BT (8 AR 60.57 11.76
MEERB(ITERE) 58.17 9.52
HRRR(ERRE) 64.4 5.26
B BRE(Z L) 63.3 1.89
R ATE (B ETh) 55.2 8.33
B RATE(ZALT) 57.4 6.45
BITEB(EMER) 52.6 14.29
HETHR(FRE) 56.33 4.26
HEITHETLR) 50 0
HETRERRE) 52.3 8.51
BETHR(EFETIL) 51.43 12.12
BETR(EERE) 50.73 476
HETHR(ZEST) 57.2 3.67
HEITHR(ZIL) 59.07 3.55
HEITHR(ZERE™) 54.47 476
HEITH(EMER) 50.07 12.5
T ETE R (FRE) 60.4 11.11
T AT E AT (E ) 59.1 8
% TATEU(HkET) 55.07 5.13

TATE(FrdL™™) 50.93 6.25




% TATE(ZHT™) 60.77 2.06
% TITE(ZALT™) 59.8 4.44
S B (A ) (% iHA%R) 64.23 14.29
AERE(MTEE) 50 9.52
BEE(TERE) 50 13.33
B S HE (FRER) 50 14.29
A= BYE (HKE™) 51.03 18.52
A= B E(Sih) 50 5.56
AENEEEE) 50 0
AEdEEZE) 50 13.33
BIE8E (Frt™) 50 0
A EHE(EERE) 50 12.5
AEHE (ZEHT™H) 55.23 11.76
AR E (ZALT) 58.37 10.53
fat (™) 74 4,08
frat(ZALh) 73.67 3.49
fRET (R EAER) 73.57 9.09
BEZ&(= i) 54.47 9.09
EZ (k) 59.7 5.56
FE(EEEX)(ERE) 71.67 5.41
#iE (FEE R XX) (Fr L) 72.8 455
SitMTERE) 63.1 6.45
BitIERE) 57.87 15.71
it (EFIER) 54.23 14.29
it (FRE) 61.87 10.53
St (BkE) 65.3 5
B (ST 62.77 6.45
SiHEERE) 66.57 25




BEH(EITER) 50 0
B ERRER) 66.87 5.48
SEt(#Et™) 64.53 5.56
it (ERE) 62.57 1.69
EEET ) 64.43 8.62
ST (ZiHER) 57.03 20.69
RETRITERE) 50 0
RETR(IERRE) 51.2 11.11
RETHRFRRE 54.4 13.33
ERITE(ME ) 50.57 22.22
REBTREER) 54.9 19.05
ERITER(EIR) 55.07 25
RETHERRE) 51.4 18.75
FERITE(FrAL ) 52.57 11.76
RETBRZESH) 59.07 5.13
RETHR(ZAL™) 57.83 6.9
RETHR(ZRE™) 52.57 7.41
REITE(E M) 56.13 16.67
BFURE (M) 54.53 9.09
BRE(GETIR) 65.4 16.67
BRI (ETRH) 68.43 2.52
BAEE(EI™) 63 457
EETHRMERE) 56.73 18.18
B ETH(HET) 50 8.33
ERTHRERRE) 50.57 11.86
EETBR(FTIL) 51.87 10
RETHR(ZRE™) 55.63 5.88
EEREMMTER) 54,97 33.33




EERIMTERRE) 52.2 18.52
= R R (£ FER) 57.8 25
= E it (BkE ) 58.43 16.67
=R (S ) 57.5 12.5
EEREMERR) 54.53 25
EERMNERR) 61 6.25
= R BT (FrAL ) 65.47 25
=R (ERE) 55.73 11.76
RERN(EAHT) 60.5 10.26
EERN(EALT) 58.97 20
BHIE(BE™) 56.17 16.67
BAIRE(EHD) 55.2 12.2
BEAIEFEILH) 50 0
BHIR(ZEF™) 58.03 7.5
BHIE(ZEI™) 52.13 26.67
BHIRE(EHR 50 0
BRI (R HRR) 58.53 14.29
AR (EFIRR) 57.43 10
187 BT (Bl ) 62.8 6.12
B A BT (L) 69.07 476
‘R (EAL ) 65.83 3.7
FAERI(ZRE™) 64.33 1.89
EER T (EFTER) 57.77 18.18
B AT (E ) 62.7 5.88
W IR (S ) 50 16.13
W T2 (=) 62.3 14.29
MM (ZA) 55.07 9.09
RRITHR(IERRE) 50 0




IRIRITE(BKE ) 50 0
IRIRATE(FALT) 52.37 13.33
RRITREERRE) 51.33 14.29
IRIRITE(ZH ) 53.67 7.32
IR (1T E =) 50 20
IRIRET(TER[E) 52.2 22.22
IRR BT (B ET) 55.73 11.11
IRIR BT (= b ) 55.23 7.69
IRRBRMNMEERR) 50 0
RARBMNERRE) 55.6 11.11
IRR BT (FALTh) 50 21.05
IRRBEM(EERE) 57.73 13.33
IRIRET(Z ) 50 10
IR IR ER T (ZAL ) 52.5 10.71
IRIRBANT (2 iR) 50.13 16.67
REIREHR) 50 0
Iai*IE(%ﬁ:II:Fﬁ) 50.27 28.57

T (ZHh) 60.77 7.69
IRIET IR (ZALT) 60.73 20
IRIE TR (R 50 0
B TR (R B KR (B h) 73.83 4.35
BIAITRGER B RS (BERE) 70.77 2.5
BT GER B R (Z=ALT™h) 78.77 3.03
BT GER B ) (&SR 66.63 10

YR K ERER 53 8%

—RER(MTEE) 73.17 8.05
—REBRIERE) 70 9.52
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71.33
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3.57

74.83

6.08
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3.55

71.33

14.29

74.17

3.05

74.17

3.23
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1.94
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2.86

77

0.81

15.17

2.74

70.83

10

76.17

4.18
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1.39

77

0.78

76.67
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JKFI TFE (BEET) 54.5 20
IKFI TR (S ) 52.33 12.5
KFAILIEREERRE) 50 20
JKFITFE(FrALTh) 50 23.08
KFITFE(ZALT) 50 33.33
KF TR (=) 66.83 12.5
RBITHR(TERE) 51.83 5.56
ZBITE(EMER) 55.33 9.52
BT (EIR) 50 0
RBITRERE) 60.5 2.86
RRITE(ZmM™) 61.5 2.86
BRI (TERE) 50 0
@B T (EFRR) 50 0
3@ T (GE TR 50 0
@i (Fr L) 53 16.67
B (EAH™) 52.33 15.63
R (TER =) 56 5
Hh B (BB ) 54.5 7.69
Hh B (= i ) 58.17 6.12
Hh B (EESTIER) 55.83 22.22
hB(ERRE) 55.83 6.33
Hh R (Fr L) 57.33 13.24
B (Z L) 56.33 13.16
gk (=R TH) 62 5.71
FEERB(TERE) 66.5 3.33
R RB(HET) 65.33 2.74
FERBREERR) 74 2.63
EEEB(ZALT) 75.5 0.71




RRBRE(E ) 72.33 5.71
#HE T E(ELE) 61.67 13.33
#E T EEFILT) 56.83 23.53
HETR(S ) 64.17 3.76
HETHREER) 65 9.52
#HETHRETIL) 64.33 9.45
HEITR(FRE) 59.83 4.65
#HETRESH) 65 2.53
HETER(EAL) 64 18.52
HEITR(EHER) 68 14.29
BEIRITERE) 50 0
BETREMER 50 0
BET IR (BKET) 50 16.67
BETE(EHT) 50.5 22.22
BEIRERR) 50 0
BETREILIR 50 0
BEIREFEILH) 50 0
BEIRERRE) 50 0
BETREPH) 50 0
BETREIH) 50 0
B A (bkE ) 73.83 1.61
BRITBR(MTEE) 68.33 2.86
BITR(TERIR) 64.17 5
B ITE(S ) 68.08 1.1
BRITH(EERRE) 61.67 10
AR IT (/L RR) 57.08 25
Eﬂﬁﬁﬂz(%ﬁilﬁﬁ) 62.25 2.67
MITH(ER(E) 64.92 1.21




B ITE(Z=FL ™) 67.67 2.02
HETR(HEET) 62.5 417
BITH(SHH) 70.67 4.1
BITHRERRE) 69.83 5.88
HETHR(ZES) 69.5 4.9
HETR(ZALT) 69 4,65
HETR(ZrRT™) 62.67 455
B ETE R (BkET™) 59.33 12.5
B EtERM(EF™) 67.67 9.52
#atE (=L ™) 66 5.88
% TITH(ZH™) 69.33 1.14
= L) 63.67 7.89
=E (B 59.5 14.29
AERE(TTEE) 53.33 17.65
A=EHE(TERE) 52.5 15.38
B = HE (BkET) 55.5 14.29
BERE (S 52.5 12.82
AEHEEEE) 50 0
AEHE(ERRE) 50 24
A= B E Fdt ™) 50.33 33.33
AEHE(EERE) 50 14.29
B EHE (Z=HTH) 51.33 15.38
Hl=HE (=) 59.67 10.53
frat (=) 70.33 1.54
E&(£M5) 60.17 20
EZ (=) 65.83 9.09
i EREX) (M) 55.33 16.67
i (EEEX) (#Frde™h) 68.17 7.41




BEt(TERE) 64.17 13.16
St (BkE) 68.33 3.51
it (™) 65.92 3.3
SiHEERE) 61.33 17.39
Bt (#rdL™) 61.42 9.72
B (ZEALT) 66.83 5.21
SRR 74.33 25
RETHR(MTERE) 57 20
REITR(IERE) 61.17 16.67
TR (BkE ) 66.17 6.25
RETHREER) 67.17 12.5
ERITER(ETIR) 63.5 100
RETRERRER) 63.17 8
e ITE(FTLT) 63.5 9.8
RETBRZES) 63.33 7.41
RETBR(ZAL™) 65.5 8.57
RETBR(ZRE™) 64 3.85
BRE(TERE) 62.83 3.45
BRI (MEE™) 66.67 1.45
BEHREEBRE) 67.25 2.27
RFERITR(ZEHTH) 68 2.5
RERIM(ITERR) 63.5 7.69
= E BT (R FIER) 59.17 33.33
= R BT (B E ) 71.83 16.67
EEERMERR) 66.33 11.11
=R (ETIR) 64 100
EERN(EALT) 63.5 7.14
RERIN(ZET) 64.5 4




(# 56.83 14.29
BEHIREE 66.17 6.35
HIFE(EZEF 62.33 5.41
BATIEE 58.83 15.15
BFIE(TE 69.92 6.67
BFIEE 58.92 9.09
BEFIEGF 61 11.11
BFIE= 63.83 4,69
BEIRME 50 0
BIEIIR(E 51.25 33.33
FEE(MTERE) 59.33 5.88
EEISE 67.33 3.7
EESE 59.67 5.13
BERIMN(TE 50 0
BRI 51.17 33.33
55.83 9.09

BETRIERE 60.5 2.22
BETHR(W 60.5 1.33
BETREALT 62.5 0.92
BERMIERRE 51.83 25
1 £ BT ( 56.5 20
BE R 52.83 12.5
BRI (ST 59 6.49
B E Al 54.17 16.67
B BT (E 54.17 10.26
(B2 0] 53 9.09
18 A Hh i 53.83 5.56
wEmER(E 55.17 33.33




BT (752 iHAER) 62.5 10
P TAE (BRI ) 61.17 6.25
W IR (S ) 61.67 3.85
HHIEERR) 72.5 14.29
B IR ERRE) 71.67 9.52
W IR (EFh) 64.33 5
Pt T2 (=L 58.33 13.21
RRITRITERE) 56.17 11.11
RRITR(TERE) 56.67 10
RRITRERRE) 59 4.35
IRIRITER(FrALTh) 55.5 8.7
RRITR(EERE) 54.5 10
IRIR BT (B E ) 50 11.11
IRIRE (B BT 61.5 476
IRARBRMNEERR) 50 0
IR R R T (& ITER) 50 0
IR (ERERE) 53.33 16.67
IRIR BT (FAeTh) 50 0
IRRB A (ZE ) 52.67 6.9
IRRB A (ZALT) 50.17 24.32
BiE TR (M E) 50 0
IRIE TR (S ) 57 9.09
IRIE TR (ZSH) 50 0
BATE (L) 66.17 5.26
YR
—RER(MTEE) 75.25 12.9
—RRB(TERE) 72 11.11




—RRBR(ERE) 80.15 5.71
— Rk RE(FrdLTh) 83 3.57
—RRB(ERE) 89.65 1.89
— R RB(Z4LT™H) 84 3.45
— i RB(=m™) 85.7 5.26
—RATR(MTEE) 86.65 1.67
—RATER(TERE) 83.8 2.7
—REATE(EFIER) 84.2 2.17
—RRITE(FREERER) 86.6 1.15
—RRATE(BKET) 85 1.3
—RRATE (S EET) 87.1 0.33
—RRITR(EERE) 80.9 3.42
—RITR(ERE) 85 1.09
—REATER(Fr AL ™) 84.2 427
—RRAITE(FIR(E) 85.7 0.96
—REATE(Z ™) 87.7 0.55
—RATE(ZALT) 83.9 3.55
— R ATE(Zm™) 86.1 1.24
—REATER (iR 86.5 1.37
AFTHR(ZEIL™) 82.9 4.49
FE(MTH ) 88.6 2.44
FH(#kE™) 86.5 3.94
FH(ERR) 84.8 4.35
FE(ERRE) 85.7 3
FE(Frdk) 86.3 4.49
FH(ZH ™) 87.8 1.04
Fi(=3tm™) 81.6 7.87
FH(Zmmh) 87.25 1.63




(T E =) 87.8 3.33
B (TER[Z) 76.6 9.09
B (B RER) 78.95 3.33
B (B B ) 78.95 6.67
MR EE) 75.8 8.33
i (ERRE) 83 423
ik (B2 [=) 82.55 3.13
ik (ZHTh) 7 3.17
B (=t ) 76.4 6.25
(=R ™) 77.1 3.28
HETB(S ) 83.55 1.41
HETRERRE) 80.9 5.26
AETEEFALT) 82.7 2.78
HETREERRE) 81 1.39
#HETHR(ZER™) 88.8 2.7
BITBR(TEE) 77.7 5.26
MITH(TERIE) 70.75 13.64
BAFR 1T (FTL ™) 78.4 6.07
B ITB(EX(E) 80.4 2.82
B 1TE (=L ™) 83.8 1.82

BITR(ZH™™) 88.35 0.9
BREX (BKEIT) 82.5 2.94
BRHERRE) 88.5 1.79
BRE(FXE) 89.6 1.36
B (ERE) 87.5 4
SEt(#Eit™) 85.33 2.82
RETR(IERRE) 83.2 11.76
REBTREERR) 81.1 6.25




RETRERRER) 87.6 1.43
EREITE(FrALT) 82.7 2.56
BFIHEEI™) 74.2 2.99
BEE&AEE(ZILH) 84.4 2.08




